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ry Exercise 9 ‘“ Date:

A. Fill in the blanks with the correct form of the verbs in the brackets.

Sandy loves 1. (swim). She 2. (go) to the beach
3. (swim) every Saturday.

Last Saturday, she 4. (join) her friends to go to Hong Kong Gold
Coast. They 5. (walk) on the beach and 6. (find)
many shells. Then they 7. (play) beach volleyball. Sandy’s tfeam
8. (lose) the match because her partner 9. (get)
hurt. Next, Sandy and her friends 10. (swim) for two hours before they
1. (leave) the beach and 12. (have) dinner. On her way
home, Sandy planned 13. (go) swimming again. She 14.
(go) with her family next Saturday.

B. Describe how these people act. Write like the example.

t&_ﬂp vou know...?

‘Not lift a finger’ means ‘to do nothing to help

someone’.

e.g. Tina is his sister but he does not lift a finger
to help her.
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